
80 Questions

Testbook Solution

Que. 1 सूरदास के गु� कौन थे?

Correct Option - 3

रामान�1.

रामदास2.

व�भाचाय�3.

िव�लनाथ4.

Testbook Solution

Que. 2 छंद पढ़ते समय आने वाले िवराम को �ा कहते ह�?

Correct Option - 2

गित1.

यित2.

तुक3.

गण4.

Testbook Solution

Que. 3 जहाँ वा� की गित अ��म �प ले ले, िवचार के तार टूट जाएँ, वहाँ िकस िच� का �योग िकया जाता है?

Correct Option - 4

योजक1.

अ�िवराम2.

उ�दरण िच�3.

पूण� िवराम4.

Testbook Solution

Que. 4 अमष� �ा है?

Correct Option - 2

एक का� दोष1.

एक संचारी भाव2.

एक का� गुण3.

एक अलंकार4.

Testbook Solution

Que. 5 कबीरदास की भाषा कौन-सी थी?

Correct Option - 4

�ज1.

खड़ी बोली2.

क�ौजी3.

सधु�ड़ी4.

Que. 6 "�ोपदी का चीर" का अथ� है-

नारी का अपमान करना1.
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Testbook Solution Correct Option - 3

शम�नाक काय�2.

कभी समा� न होना3.

सु�र �ी4.

Testbook Solution

Que. 7 "कूप मंडूक होना" का अथ� है-

Correct Option - 4

कुएँ म� िगरना1.

मुख� होना2.

मात देना3.

सीिमत �ान या सीिमत अनुभव होना4.

Testbook Solution

Que. 8 इस �� म� वा� के पहले और अ��म भाग को �मश: (1) और (6) की सं�ा दी गई है l बीच म� आने वाले
अंश को चार भागो ंम� बांटकर (य), (र), (ल), (व) सं�ा दी गई है l यह चारो ंउिचत �म म� नही ंहै l इन चारों

को उिचत �म म� लगाइए l तािक एक शु� वा� का िनमा�ण हो l
(1) सामािजक जीवन म�
(य) �ोध की ज�रत बराबर पड़ती है
(र) मनु� दूसरो ंके �ारा प�ंचाए जाने वाले ब�त से
(ल) यिद �ोध न हो तो
(व) क�ो ंकी िचर िनवृि� का
(6) उपाय ही न कर सके l

Correct Option - 1

य ल र व1.

व य र ल2.

र य ल व3.

ल र व य4.

Testbook Solution

Que. 9 िदये गये वा�ांश के िलए एक श� का चयन कीिजए l

पूरब और उ�र के बीच की िदशा

Correct Option - 2

आ�ेय1.

ईशान2.

वाय�3.

नैऋ�4.

Testbook Solution

Que. 10 "वलय" श� का अथ� िच��त कीिजए l

Correct Option - 2

वृ� की छाल1.

गोलाकार घेरा2.

मृग छाल3.

आवरण4.
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Testbook Solution

Que. 11 नीचे िदए गए श�ो ंम� से अ�यीभाव समास का चयन कीिजए l

Correct Option - 2

पाप-पु�1.

आजीवन2.

घुड़सवार3.

पीता�र4.

Testbook Solution

Que. 12 "ठीक समय पर आ जाना" म� कौन-सा कारक है?

Correct Option - 4

कम�1.

करण2.

स�दान3.

अिधकरण4.

Testbook Solution

Que. 13 "मंिदर - मंिदरा" यु� का उपयु� अथ� वाला यु� कौन सा होगा?

Correct Option - 4

पूजाघर - पुजारी1.

घर - सवारी2.

गुफा - बड़ी गुफा3.

देवालय - अ�शाला4.

Testbook Solution

Que. 14 िन�ल�खत म� िम� वा� है -

Correct Option - 4

मेरे आते ही वषा� होने लगी l1.

उसके जाने के बाद वषा� होने लगी l2.

वह घर से िनकला और वषा� होने लगी l3.

�ो ंही वह घर से िनकला, वषा� होने लगी l4.

Que. 15 िनद�श: का�ांश को पढ़कर िन���खत ��ो ंके उ�र दीिजए l

आज बरसो ंबाद उठी है इ�ा
हम कुछ कर िदखाएँ
एक अनोखा ज� मनाएँ
अपना कोरा अ��� जमाएँ
आज बरसो ंबाद सूखे प�ो पर
बसंत ऋतू आई है
िवचार �पी किलयो ंपर
बहार �खल आई है
गहनता की फसल लहलहाई है
शायद इसी करण
आज बरसो ंबाद
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Testbook Solution

उठी है इ�ा हम कर िदखाएँ
अपना कोरा अ��� जमाएँ l

किव के मन म� इ�ा उ�प� �ई है _____l

Correct Option - 1

कुछ मह�पूण� काय� करने की1.

मन से बात� करने की2.

खुिशयाँ मनाने की3.

अपनी पहचान बनाने की4.

Testbook Solution

Que. 16 'सूखे प�े' �तीक ह� _____l

Correct Option - 3

पतझड़ के1.

अकाल के2.

मन के सूनेपन के3.

शु�ता के4.

Testbook Solution

Que. 17 िकन किलयो ंपर बहार का आगमन �आ है ?

Correct Option - 2

भाव �पी किलयो ंपर1.

िवचारो ंकी किलयो ंपर2.

छोटी नई किलयो ंपर3.

शु� किलयो ंपर4.

Testbook Solution

Que. 18 'गहनता की फसल' से किव का �ा आशय है?

Correct Option - 1

िवचारो ंम� प�रप�ता1.

अपना अ���2.

लहलहाती फसल�3.

िवचारो ंकी गंभीरता4.

Testbook Solution

Que. 19 �र� �थान हेतु िदए गए िवक�ो ंम� उिचत िवक� चुिनए l

रामू की _____ केवल इसिलए �ई, �ों�िक राजीव उसकी _____ अिधक बु��मान है l

Correct Option - 3

अपे�ा, अपे�ा1.

अपे�ा, उपे�ा2.

उपे�ा, अपे�ा3.

उपे�ा, उपे�ा4.

Que. 20 िन� पं�� म� सही अलंकार का चयन कीिजए l

पानी िवच मीन �ासी l
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Testbook Solution

मोिह सुिन सुिन आवै हासी ll

Correct Option - 3

िवभावना1.

अितशयो��2.

िवशेषो��3.

उपमा4.

Testbook Solution

Que. 21 िन�िल�खत िवक�ो ंम� से िकस िवक� म� सभी श� ���वाचक सं�ाऍं ह�?

Correct Option - 1

राम, रामच�रतमानस, गंगा1.

कृ�, कामायनी, िमठास2.

लखनऊ, आम, बुढ़ापा3.

ममता, वकील, पु�क4.

Testbook Solution

Que. 22 िन���खत म� �ा 'गंगा' का पया�यवाची नही ंह�?

Correct Option - 3

मंदािकनी1.

भागीरथी2.

कािल�ी3.

सुरस�रता4.

Testbook Solution

Que. 23 सही वत�नी श� का चयन कीिजए l

Correct Option - 2

अव�ती1.

�ंगार2.

मुशिकल3.

मा�भूिम4.

Testbook Solution

Que. 24 समूहाथ�क श� िच��त कीिजए l

Correct Option - 4

पु�ष1.

�ी2.

मनु�3.

भीड़4.

Que. 25 "आंिशक" श� म� ��य �ा है?

अ1.

क2.

इक3.

िशक4.
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Testbook Solution Correct Option - 3

Testbook Solution

Que. 26 नीचे िदए गए वा� के �ुिटपूण� ख� को िच��त कीिजए, यिद कोई �ुिट न हो तो (d) भाग को िच��त कीिजए
l

पुिलस �ारा चोरी (a) /का माल बरामद (b) /हो गया है (c)/ कोई �ुिट नही ं(d)/

Correct Option - 1

(a)1.
(b)2.
(c)3.
(d)4.

Testbook Solution

Que. 27 वधूिम�  स�� िव�ेद है -

Correct Option - 2

वधू + उिम�1.

वधू + ऊिम�2.

वधु + उिम�3.

वधु + ऊिम�4.

Testbook Solution

Que. 28 िभ�ाथ�क श� का चयन कीिजए l

Correct Option - 2

पावक1.

अिनल2.

शुिच3.

कृशानु4.

Testbook Solution

Que. 29 "हष�" का िवलोम बताएँ-

Correct Option - 2

खुशी1.

िवषाद2.

उ�ास3.

आन�4.

Testbook Solution

Que. 30 गँदला, मैला, मिलन िकस श� के पया�यवाची ह�?

Correct Option - 3

�लय1.

धवल2.

पंिकल3.

पामर4.

Que. 31 There are four candles which can burn for 5 hours, 4 hours, 3 hours and 2 hours respectively. All of
them are lighted at the same time. They are kept lighted till the time 3 candles are finished. If the

cost of lighting each candle is 1.5 per hour, what will be the total expenditure?

www.prepp.in

Sunny
Sticky Note
None set by Sunny

Sunny
Sticky Note
MigrationNone set by Sunny

Sunny
Sticky Note
Unmarked set by Sunny



Testbook Solution Correct Option - 3

Rs.16.501.
Rs.18.002.
Rs.19.503.
Rs.21.004.

Testbook Solution

Que. 32 If a clock show time as 7 hours 30 minutes then what will be the angle between hour hand and
minute hand?

Correct Option - 4

120°1.
95°2.
75°3.
45°4.

Testbook Solution

Que. 33 A dice has been shown in four different positions as follows. Which number is on the opposite
surface of number 3 ?

Correct Option - 3

21.
32.
43.
64.

Testbook Solution

Que. 34 How many rectangles are there in the given figure?

Correct Option - 4

201.
222.
273.
294.

Que. 35 Ram is elder than Shyam by 315 days and Krishna is elder than Ram by 70 weeks. If Krishna was
born on wednesday then which was the day on Shyam's birthday?

Monday1.
Wednesday2.
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Testbook Solution Correct Option - 2

Friday3.
Saturday4.

Testbook Solution

Que. 36 In a particular situation 'A' is 4 years elder to 'B'. 16 years later 'A' will be thrice of his present age
and 'B' will be five times of his present age. Find the ages of 'A' and 'B' two years before the given

situation.

Correct Option - 1

6 years and 2 years1.
10 years and 6 years2.
8 years and 4 years3.
12 years and 8 years4.

Testbook Solution

Que. 37 A person travels from place 'A' to place 'B' at a speed of 40 km/hour. While returning he increases
his speed by 50%. What would be his average speed for the entire trip?

Correct Option - 3

36 Km/hour1.
45 Km/hour2.
48 Km/hour3.
50 Km/hour4.

Testbook Solution

Que. 38 Six People A, B, C, D, E and F, are sitting in two rows with three people in each row. E is not
sitting at any end of any row. D is sitting on the left of F and is at second place. C is sitting next to

E and diagonally opposite to D. B is sitting next to F. On the basis of given information who is sitting
opposite to B?

Correct Option - 4

D1.
F2.
A3.
E4.

Testbook Solution

Que. 39 A water pump has a capacity to fill water at 10 liters per second. How much time will it take to fill
the water tank of 80 cm × 60 cm × 50 cm? 

Correct Option - 2

12 Seconds1.
24 Seconds2.
36 Seconds3.
48 Seconds4.

Que. 40 There are six people L, M, N, P, Q and R each having different heights, N is taller than Q and P, but
shorter than M. P is taller only to Q while R is shorter only from L. From the given options choose

the one that shows the pair of tallest and shortest person in group.
M and P1.
P and Q2.
M and L3.
L and Q4.
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Testbook Solution Correct Option - 4

Testbook Solution

Que. 41 Complete the series from the given option at (?) sign -
1331, 2197, 3375, 4913, ? 

Correct Option - 3

82881.
71102.
68593.
98264.

Testbook Solution

Que. 42 If a rectangular block of 4 × 6 × 8 cm dimension is cut into small cubes of sides 2cm each, how
many small cubes can be formed?

Correct Option - 2

121.
242.
363.
484.

Testbook Solution

Que. 43 Ajay and Vijay are brothers. Ram is father of Vijay, Kamla is Ram's sister. Prema is Ram's niece.
Shubha is maternal grand daughter of Kamla. How is Ajay related to Shubha?

Correct Option - 3

Brother1.
Maternal Uncle's Son2.
Maternal Uncle3.
Nephew4.

Testbook Solution

Que. 44 In a exam 70% candidates passed in paper-I and 60% candidates passed in paper-II. 15%
candidates did not passed any paper, while 270 candidates passed in both papers. Find out total

number of candidates appeared in the exam?

Correct Option - 1

6001.
5802.
5603.
5404.

Que. 45 Examine the given figures carefully and identify the correct logical option that can replace (?) sign.

371.
472.
563.
424.
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Testbook Solution Correct Option - 4

Testbook Solution

Que. 46 In this question one word is given alongwith four options. There is only one option which cannot
be made using the alphabets of the given word. Choose out the odd one-

INTERVENTION

Correct Option - 4

ENTER1.
INVENTION2.
INTENTION3.
ENTERTAIN4.

Testbook Solution

Que. 47 Choose the correct alternative from the given ones that will complete the series at (?)-
1, 5, 14, 30, 55, 91, ?

Correct Option - 4

1211.
136 2.
1423.
1404.

Testbook Solution

Que. 48 Two group of numbers to the left side of the sign ∶∶ are related to each other in a logical manner.
Select one number from the given options to replace (?) sign in the same logical manner.

11529 ∶ 72135 ∶∶ 23687 ∶ ?

Correct Option - 3

369991.
472612.
129683.
699814.

Testbook Solution

Que. 49 Find the missing number in the following series at (?)-

Correct Option - 2

, , ?,
4

9

9

20

39

86

1. 17

40

2. 19

42

3. 20

45

4. 29

153

Que. 50 In this question four words have been given out of which three are alike in some manner and fourth
one is different. Choose out the odd one-

Acharya Kriplani1.
Dr. Radha Krishnan2.
C.V. Raman3.
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Testbook Solution Correct Option - 1
Rajagopalachari4.

Testbook Solution

Que. 51 For which movement Mahatma Gandhi gave the slogan "Do or Die"?

Correct Option - 2

Poonam Swaraj Resolution1.
Quit India movement2.
Dandi March (Salt March) movement3.
Khilafat movement4.

Testbook Solution

Que. 52 When is the "International Women's Day" celebrated?

Correct Option - 1

8th March1.

8th August2.

5th September3.

9th November4.

Testbook Solution

Que. 53 Which planet of our solar system is also known as 'Red Planet'?

Correct Option - 1

Mars1.
Venus2.
Mercury3.
Jupiter4.

Testbook Solution

Que. 54 Who was the founder of 'Arya Samaj'?

Correct Option - 3

Raja Ram Mohan Roy1.
Swami Vivekanand2.
Swami Dayanand Saraswati3.
Raja Radhakant Dev4.

Testbook Solution

Que. 55 In which year, was Urdu declared as second official language of Uttar Pradesh?

Correct Option - 3

19861.
19822.
19893.
19914.

Que. 56 Which place out of the following is not related to production of steel?
Jamshedpur, Jharkhand1.

Burnpur, West Bengal2.
Jharia, Jharkhand3.
Durgapur, West Bengal4.
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Testbook Solution Correct Option - 3

Testbook Solution

Que. 57 Which Lokayukta of the following in Uttar Pradesh has served the office, for maximum period of
time?

Correct Option - 3

Justice Mirza Mohd. Murtala Hussain1.
Justice Kailash Nath Goyal2.
Justice N.K. Mehrotra3.
Justice Sudhir Chandra Verma4.

Testbook Solution

Que. 58 From where has the national emblem of India been taken?

Correct Option - 4

Bodh Vihar, Gaya1.
Kolkata Museum2.
Patna Museum3.
Ashoka Pillar, Sarnath4.

Testbook Solution

Que. 59 Under the "Kanya Vidya Dhan Yojna", the Government of Uttar Pradesh awards the motivational
prize money, after clearing/passing which class?

Correct Option - 4

5th1.

8th2.

10th3.

12th4.

Testbook Solution

Que. 60 Which of the following hill stations is located at the highest from the sea level?

Correct Option - 2

Darjeeling1.
Ooty2.
Shimla3.
Dalhousie4.

Testbook Solution

Que. 61 On recommendation of which of the following, the provisions for fundamental duties were added
to the Constitution of India?

Correct Option - 2

Balwant Rai Mehta Committee1.
Swarn Singh Committee2.
Iyengar Committee3.
Thakkar Commission4.

Que. 62 Who has been awarded OSCAR in the year 2016 for documentary film category?
A.R. Rehman1.

Asif Kapadia2.
Deepa Mehta3.
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Testbook Solution Correct Option - 2
R. Balki4.

Testbook Solution

Que. 63 Recently Samajwadi Government in Uttar Pradesh has approved an increase in monthly pension
for oldage citizen. What is previous and revised pension amounts?

Correct Option - 3

Rs.200 to Rs.300 per month1.
Rs.300 to Rs.400 per month2.
Rs.400 to Rs.500 per month3.
Rs.500 to Rs.600 per month4.

Testbook Solution

Que. 64 For the year 2015 who has been awarded 'Arjuna Award' for the National Game of India'?

Correct Option - 1

Sreejesh Ravindran1.
Abhilash Mahapatra2.
Babita Kumari3.
Satish Sivalingam4.

Testbook Solution

Que. 65 Which of the following pair is incorrect?

Correct Option - 3

Baburnama - Babur1.
Shahjahan nama - Inayat Khan2.
Humayun nama - Humayun3.
Tazuk-e-Jahangiri - Jahangir4.

Testbook Solution

Que. 66 Article-368 of the Constitution of India deals with-

Correct Option - 2

formation/establishment of Finance Commission1.
process of Constitution amendment2.
emergency regulation3.
formation/establishment of Election Commission4.

Testbook Solution

Que. 67 To select the entire text in a documents in computers, which keys should be pressed?

Correct Option - 2

CTRL + K1.
CTRL + A2.
ALT + F53.
SHIFT + A4.

Que. 68 What will be the decimal equivalent for binary number 1011?
81.

92.
113.
154.
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Testbook Solution Correct Option - 3

Testbook Solution

Que. 69 Which one of the following options is not associated with computer system? 

Correct Option - 4

PPP1.
FTP2.
URL3.
EPF4.

Testbook Solution

Que. 70 Permanent Memory of a computer is known as-

Correct Option - 3

RAM1.
CD-ROM2.
ROM3.
CPU4.

Testbook Solution

Que. 71 For the year 2016-17, in terms of defence budget, what is India's ranking as compared to other
countries of the world?

Correct Option - 2

Second1.
Fourth2.
Fifth3.
Sixth4.

Testbook Solution

Que. 72 The Second Battle of Panipat was fought between-

Correct Option - 2

Babur - Lodhi1.
Akbar - Hemu2.
Ali Raja - Chandragupta Maurya3.
Akbar - Lodhi4.

Testbook Solution

Que. 73 For the year 2016, which Indian player has qualified for boxing in Olympics?

Correct Option - 3

Devendro Singh1.
Vijendra Singh2.
Shiva Thapa3.
Dinesh Kumar4.

Testbook Solution

Que. 74 Who preceded Chakravati Rajagopalachari as the Governor General of India?

Correct Option - 1

Lord Mountbatten1.
Lord Irwin2.
Warren Hastings3.
Lord Memo4.
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Testbook Solution

Que. 75 What is the percentage of iron, in chemical composition of earth?

Correct Option - 4

Approximately 20% - 22%1.
Approximately 25% - 27%2.
Approximately 40% - 42%3.
Approximately 32% - 35%4.

Testbook Solution

Que. 76 According to the population census 2011, what is the population density of Uttar Pradesh state?

Correct Option - 3

661 Per Sq. Km1.
573 Per Sq. Km2.
829 Per Sq. Km3.
785 Per Sq. Km4.

Testbook Solution

Que. 77 What is the percentage increase of annual budget estimates of Uttar Pradesh for the year 2016-17
as compared to the original budget estimates of Uttar Pradesh for the year 2015-16?

Correct Option - 3

20.12%1.
18.60%2.
14.16%3.
12.10%4.

Testbook Solution

Que. 78 What is the radius of earth?

Correct Option - 2

5999 kilometres 1.
6371 kilometres 2.
6990 kilometres 3.
9066 kilometres 4.

Testbook Solution

Que. 79 Which district in Uttar Pradesh has the highest sex ratio?

Correct Option - 4

Azamgarh1.
Deoria2.
Gorakhpur3.
Jaunpur4.

Testbook Solution

Que. 80 Who amongst the following has never served as Governor in the Uttar Pradesh state?

Correct Option - 1

Shree Chandra Bhanu Gupta1.
Shree H.P. Mody2.
Shree Kamaiyalal Maneklal Munshi3.
Shree Burgula Ramakrishna Rao4.
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